

$$③ p'(x) = \frac{-6x}{\sqrt{8+x^2}}$$

عدد التوقع الجيئة باكتاف 100 قطة

سعر 10800

$$\text{شروط} \rightarrow \boxed{PCU = 10}$$

$$\rightarrow P(x) = \int p'(x) \cdot dx$$

$$= \int \frac{-6x}{\sqrt{8+x^2}} \cdot dx \quad \boxed{y = \sqrt{8+x^2}}$$

$$\rightarrow y^2 = 8+x^2 \rightarrow 2y \cdot dy = 2x \cdot dx$$

$$\frac{2y \cdot dy}{2x} = dx \rightarrow \boxed{dx = \frac{y}{x} \cdot dy}$$

$$P(x) = \int \frac{-6x}{y} \cdot \frac{y}{x} \cdot dy$$

$$= \int -6 \cdot dy = -6y + c$$

$$\boxed{P(x) = -6\sqrt{8+x^2} + c}$$

$$P(1) = -6\sqrt{9} + c = 10$$

$$-18 + c = 10 \rightarrow \boxed{c = 28}$$

$$P(x) = -6\sqrt{8+x^2} + 28 \quad \textcircled{C}$$

$$① \int \frac{(\ln x)^4}{x} \cdot dx$$

$$\boxed{y = \ln x} \rightarrow dy = \frac{1}{x} \cdot dx$$

$$\rightarrow \boxed{x \cdot dy = dx}$$

$$\int \frac{y^4}{x} \cdot x \cdot dy = \int y^4 \cdot dy$$

$$= \frac{y^5}{5} + c = \frac{(\ln x)^5}{5} + c \quad \textcircled{d}$$

$$② \int (1-2x)^3 \sqrt{x^2-x} \cdot dx$$

$$\boxed{y = \sqrt{x^2-x}} \rightarrow y^2 = x^2-x$$

$$\rightarrow 3y^2 \cdot dy = (2x-1) \cdot dx$$

$$\rightarrow \boxed{\frac{3y^2 \cdot dy}{2x-1} = dx}$$

$$\int \frac{(-1)}{(1-2x)} \cdot y \cdot \frac{3y^2 \cdot dy}{2x-1}$$

$$= \int -3y^3 \cdot dy = -\frac{3y^4}{4} + c$$

$$= -\frac{3}{4} \sqrt{(x^2-x)^4} + c \quad \textcircled{C}$$

$$⑥ \int \sin^3 x \cdot dx$$

$$= \int \sin x \cdot \sin^2 x \cdot dx$$

$$= \int \sin x \cdot (1 - \cos^2 x) \cdot dx$$

$$\boxed{y = \cos x} \rightarrow dy = -\sin x \cdot dx$$

$$\left(\frac{dy}{-\sin x} = dx \right)$$

$$= \int \cancel{\sin x} (1 - y^2) \cdot \frac{dy}{-\cancel{\sin x}}$$

$$= \int -(1 - y^2) \cdot dy = \int (y^2 - 1) \cdot dy$$

$$= \frac{y^3}{3} - y + C$$

$$= \frac{\cos^3 x}{3} - \cos x + C$$

$$= \frac{1}{3} \cos^3 x - \cos x + C \quad (c)$$

$$④ \int x \cdot \sin(x^2 + 1) \cdot dx$$

$$\boxed{y = x^2 + 1} \rightarrow dy = 2x \cdot dx$$

$$\left(\frac{dy}{2x} = dx \right)$$

$$= \int \cancel{x} \cdot \sin(y) \cdot \frac{dy}{\cancel{2x}}$$

$$= \int \frac{1}{2} \sin y \cdot dy = -\frac{1}{2} \cos y + C$$

$$= -\frac{1}{2} \cos(x^2 + 1) + C \quad (b)$$

$$⑤ \int x(4)^{x^2} \cdot dx$$

$$\boxed{y = x^2} \rightarrow dy = 2x \cdot dx \rightarrow \left(\frac{dy}{2x} = dx \right)$$

$$\int x(4)^y \cdot \frac{dy}{2x} = \int \frac{1}{2} (4)^y \cdot dy$$

$$= \frac{1}{2} \frac{(4)^y}{\ln 4} + C$$

$$= \frac{(4)^y}{2 \ln 4} + C = \frac{(4)^{x^2}}{2 \ln 4} + C \quad (b)$$

$$\begin{aligned} \textcircled{8} \int \cot^3 x \cdot dx &= \int \cot x \cdot \cot^2 x \cdot dx \\ &= \int \cot x (\csc^2 x - 1) \cdot dx \\ &= \int (\cot x \csc^2 x - \cot x) \cdot dx \\ &= \underbrace{\int \cot x \csc^2 x \cdot dx}_{(*)} - \underbrace{\int \cot x \cdot dx}_{(**)} \end{aligned}$$

$$\textcircled{*} \int \cot x \csc^2 x \cdot dx$$

$$\boxed{y = \cot x} \rightarrow dy = -\csc^2 x \cdot dx$$

$$\boxed{\frac{dy}{-\csc^2 x} = dx}$$

$$\begin{aligned} \int y \cdot \csc^2 x \cdot \frac{dy}{-\csc^2 x} &= \int -y \cdot dy \\ &= -\frac{y^2}{2} + C = \boxed{-\frac{\cot^2 x}{2} + C} \end{aligned}$$

$$\textcircled{**} \int \cot x \cdot dx = \int \frac{\cos x}{\sin x} \cdot dx$$

بالتعويض $u = \sin x \rightarrow du = \cos x \cdot dx$

$$\rightarrow \int \cot x \cdot dx = \boxed{\ln |\sin x| + C}$$

$$\begin{aligned} \rightarrow \int \cot^3 x \cdot dx &= -\frac{\cot^2 x}{2} - \ln |\sin x| + C \\ &= -\left(\frac{\cot^2 x}{2} + \ln |\sin x|\right) + C \end{aligned}$$

$$\textcircled{7} \int_0^{\frac{\pi}{4}} \tan x \sec^3 x \cdot dx$$

$$= \int_0^{\frac{\pi}{4}} \tan x \sec x \cdot \sec^2 x \cdot dx$$

$$\boxed{y = \sec x} \rightarrow \frac{dy}{dx} = \sec x \tan x \cdot dx$$

$$\boxed{\frac{dy}{\sec x \tan x} = dx}$$

$$x=0 \rightarrow y = \sec 0 = 1$$

$$x=\frac{\pi}{4} \rightarrow y = \sec \frac{\pi}{4} = \sqrt{2}$$

$$\Rightarrow \int_1^{\sqrt{2}} \cancel{\tan x} \sec x \cdot y^2 \cdot \frac{dy}{\cancel{\sec x \tan x}}$$

$$= \int_1^{\sqrt{2}} y^2 \cdot dy = \frac{y^3}{3} \Big|_1^{\sqrt{2}}$$

$$= \frac{(\sqrt{2})^3}{3} - \frac{(1)^3}{3} = \frac{\sqrt{2} \sqrt{2} \sqrt{2}}{3} - \frac{1}{3}$$

$$= \frac{2\sqrt{2}}{3} - \frac{1}{3} = \frac{1}{3} (2\sqrt{2} - 1)$$

(C)